5E G B3k Y4 X (cm) B (REHEE)
RI=2ITH—91F 47 (X) %8 21
BEDTA—RT—> 10 12.5
FYRRT =2 Th—4-F47 6 17
FyXHM 6 18.5
% 20 23
RE 2 30
ZEE 8 6%1.7
IS5AEL 1 33x8 (IRLERS)
BE 1 33x8 (B EHH)
(2 1 23
ngHiF 1 33x9.5(EIFEB4)
TR 1 26x6 (G2 TEEHS)
ATIRTF4FA7 &1 2177")]74(%3;#"3
=EA—TF— 1 17x11.5
E—>5— 1 K125 5(HE5)
BtE/ Sk (VK) 1 ATy
HEHYT 1 ‘%'310?2%%2%4?36.5
FtER 1 17x11 (kg = T)
AR K/ 1 (R)EZ18(/EE21
FHR 1 42x23%0.8
Keymn 1 EE21
TSR (K1) 21 (K)EZ25(/N)EZ21
i (5B)EZ18
T hyT 10 7%6.5




T353R 10 11.5%8
FoyxXavS 6 8.5x7.5
a—R5— 20 E%8.5
B r— 3 225
TL—tmMGRTAMNRAE—) &4 EZ23
F—FMGRTAH) 8 Ef%21
FEmMGERI Ak 8 Ef%21
HRMFHEL) 2 35x26
¢ al BHE(EFHY) 1 40%30
IH=2>8 ! f&x;“sﬁ%%g%oow
BERLUS 1 'FE47X§“1£TO%3’5)XE$28
BSRH 1 may
aTHE 1 16.3x4.8
FUFUR—/— 8 23x20(120Hvk)




